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1. (A) Explain two commodity market model in detail.
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(B) Using the following table of Input-Output find out total production of all these industries, when (8
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final demand targets are 35, 40 and 30 respectively for all three industries.
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- Input | ndustry (GHIL)
(Al did) Total Production

Output Al B | C | (59Gallest)
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P A 18 120]10 50

L B | 10|15 ] 7 65
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Narrate the properties of determinant with appropriate illustrations.
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Total price for different combinations of three commodities are given in the following table.
Using the elimination method find out the price of each commodity.

{121 S1SHI 1l sl yel-ogel Aleseilef] (Bucl wUd] 8. dlu yerdeil Guala 3l €28
dagef] (53d 2llt),

Combination { Commodity — 1 | Commodity — 2 | Commodity — 3 | Total Price
(adlowel) (dxq - 1) (dxd, - 2) (cg - 3) (54 [51d)
A 15 8 10 470
B 27 12 5 550
C - 10 6 270

2. (A) Explain with appropriate illustrations, the process for finding out the extreme values using

(B)

2. ()

differentiation. -
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The inverse demand functions of commodities ‘X’ and ‘Y’ are Px =125 — 3X and Py = 250 - 32Y

respectively. The total cost function of a producer is C = 200 + 10X + 15Y. Then find out the
maximum profit. ‘
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With the help of differentiation, explain the equilibrium of the discriminating firm with
appropriate illustration.
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(i) A card is drawn at random from the pack of 52 cards what is the probability of getting (1) a black

(iif)
3 (4)
(B)

(i)

4. (4)

(B)

4. '(i)

(i)

queen (2) a queen, a king or an ace (3) a red card.
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Write a brief note on Venn diagram.
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Discuss the various measure of dispersion in detail. W¥ 12+t (At Hiue{] [4ard yuf 520,

For the following data find out coefficient of correlation using produet moment method.
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X 1300 350] 400 450 ] 5007 ss0 [ 600 650 | 700
Y | 800{ 900] 1000| 1100] 1200 1300] 1400 1500| 1600
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Wrile a detailed note on Lorenz curve. dl3eoy ds (d9] «{ld quil.

Estimate the regression equations from following data. Calculate the weight when height is 62

inch and height when weight is 78 kg.
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Give the meaning of association of attributes. State the conditions for consistency of data,

Weight Kg. (d%-l (5311.)

98

100 | 88 | |

02195[125]120

110 | 125

Height inch (GLE 63)

48

49 | 50

51

52 53 | 54

55 | 56

Describe the methods to study the association of attributes.
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Construct the index number using methods of Laspeyre, Paasche, Fisher and Marshall-
Edgeworth. Which of these indices fulfills the time reversal and factor reversal tests? — Examine.
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Define the index number. Explain the construction and usages of index number in detail.

Commodity 2011 2021
<, Quantity (%22l]) | Price {{$4ct) | Quantity (se2ll) | Price ((54d)
A 100 80 350 140
B 25 60 360 180
C 25 75 220 225
D 15 150 180 200
E 10 85 80 135
OR (2 cil)
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Find out Mean, Median, Mode and Standard Deviation for following data.
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Intervals (CPlT)

0-79

106 -79

20-79

30-79

40-79

50-79

60 -79

Cumulative Frequency (i +41g{e)

100

95

75

50

30

10
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